10.1 Use the table below. Which of the following will just burn off the 1360 Calories you ingest by eating a Double Quarter Pounder w/Cheese Large Meal Deal?


A) About 1.6 hours of running.


B) About 6 hours of slow bicycling.


C)  About 4 hours of rapid walking


D) About 1 hour of fast dancing.


E) All of the above.
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10.2 The coenzyme, NAD is formed from

1) Vitamin A

2) Vitamin B1

3) Vitamin B3

4) Vitamin C

5) Vitamin D

10.3. The coenzyme NAD is formed from__________.

1) beta carotene

2) thiamine

3) niacin

4) ascorbic acid

5) none of the above. 

10.4 A “biochemical lesion” in the conversion of pyruvic acid to acetyl CoA is caused by:

1) A deficiency in vitamins A and C
2) A deficiency in vitamins B1 or B3
3) A deficiency in Vitamin A and E
4) A deficiency in vitamin D
5) A deficiency in vitamin K
10.5. A genetic lesion and a biochemical lesion may have the same overall outcome but different causes. A biochemical lesion is to ________________ as a genetic lesion is to__________.

1) nature, nurture

2) nurture, nature

3) chemistry, physics

4) physics, chemistry

5) oxidation, reduction

10.6 Lavoisier compared respiration to combustion because:

1) Both processes required oxygen

2) Both processes evolve carbon dioxide

3) Both processes evolved water

4) Both processes generated heat

5) All of the above
10.7. Lavoisier used a technique known as  _____________to extend our knowledge.

1) orthology

2) homology
3) analogy

4) paralogy

5) synaptomorphology

10.8. Which of the following associations are correct?

1) Krebs-escaped angry mob that set fire to his lab, Lavoisier-lost head in guillotine, Priesley-escaped Nazi persecution

2) Lavosier-escaped angry mob that set fire to his lab, Priestley-lost head in guillotine, Krebs-escaped Nazi persecution

3) Lavosier-escaped angry mob that set fire to his lab, Krebs-lost head in guillotine, Priestley-escaped Nazi persecution

4) Priestley-escaped angry mob that set fire to his lab, Lavoisier-lost head in guillotine, Krebs-escaped Nazi persecution

5 ) none of the above associations are correct
10.9 C(H2O) + O2 ( CO2 + H2O + energy  is the summary formula for

1) The Krebs cycle

2) The Calvin cycle

3) Glycolysis

4) Photosynthesis

5) Respiration
10.10 Thread-like and/or small grain-like organelles are usually called:

1) Nuclei

2) Golgi apparati

3) Mitochondria

4) Chloroplasts

5) Microtubules

10.11 When mitochondria are stained with Janus Green the dyes rapidly becomes colorless because:

1) The dye becomes oxidized by the electrons from glucose

2) The dye donates electrons to glucose

3) The dye is reduced by the electrons that come from the electron transport chain
4) The green part of the dye loses electrons through the process of photosynthesis

5) The dye is pH sensitive.

10.12. If one gives an agent to yeast that inhibits the enzyme that converts C to D in the pathway below, which is the first intermediate whose concentration will increase?

A→ B→C→D→ E

1) A

2) B

3) C

4) D

5) E
10.13 Reduction is ____________.
1) the loss of electrons and protons
2) the gain of electrons and the loss of protons
3) the gain of electrons and protons
4) the loss of electrons and the gain of protons
5) a process that only occurs in mitochondria
10.14 Oxidation is ____________.
1) the loss of electrons and protons

2) the gain of electrons and the loss of protons

3) the gain of electrons and protons
4) the loss of electrons and the gain of protons

5) a process that only occurs in mitochondria

10.15. Krebs’ initial paper describing the cyclic pathway of the oxidation of pyruvate, known as the Krebs Cycle and taught in all biology classes, was

1) immediately accepted by NATURE

2) immediately accepted by NATURE with a thank you card

3) immediately accepted by NATURE with a small honorarium

4) immediately accepted by NATURE with a substantial honorarium

5) None of the above

10.16 During respiration, oxygen is bound by

1) Carbon

2) Glucose

3) An iron containing enzyme
4) Pyruvate

5) NAD
10.17 Cytochromes are

A) iron-containing, colored molecules found in all eukaryotic cells

B) niacin-containing coenzymes

C) thiamin-containing coenzymes

D) iron-containing, coloring agent in feces
E) the coloring agent in urine

10.18 Which molecule reduces oxygen to form water?

A) Chlorophyll

B) Hemoglobin

C) Cytochrome

D) Cytochrome oxidase

E) Iron

10.19 Which molecule is poisoned by carbon monoxide?

A. Chlorophyll

B. Glucose
C.  Cytochrome

D. Cytochrome oxidase

E. Iron

10.20 Which molecule is poisoned by cyanide?

A. Chlorophyll

B. Hemoglobin

C. Cytochrome

D. Cytochrome oxidase

E. Iron

10.21 If you drink one 8 oz soda a day that contains 100 Calories from sugar, about how many pounds of fat will you put on in a year. There are 4 Calories/gram sugar, 9 Calories/gram fat, 2.2 pounds/kg, and 365 days a year.

A)  2 lb

B) 9 lb

C) 22 lb

D) 91 lb

E) 94 lb

10.22 If you drink one 16 oz soda a day that contains 200 Calories from sugar, about how many pounds of fat will you put on in a year. There are 4 Calories/gram sugar, 9 Calories/gram fat, 2.2 pounds/kg, and 365 days a year.

1) 4 lb

2) 18 lb

3) 22 lb

4) 44 lb

5) 182 lb

10.23 If you drink one 20 oz soda a day that contains 250 Calories from sugar, about how many pounds of fat will you put on in a year. There are 4 Calories/gram sugar, 9 Calories/gram fat, 2.2 pounds/kg, and 365 days a year.

1) 4 lb

2) 9 lb

3) 22 lb

4) 50 lb

5) 94 lb

10.24 If jogging expends 700 Calories/hour, how many calories would you burn if you jogged 30 minutes?

A) 35 Calories

B) 70 Calories

C) 350 Calories

D) 700 Calories

E) 1400 Calories
10.25. How many minutes are there in a year?
1) 240,000

2) 360,000

3) 525,600

4) 625,000

5) 31,536,000
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